Reference: Current Events in Physics
Difficulty: easy
Learning Objective: None None
Contest: 1997
Recently NASA announced that they had found evidence for life on Mars, based on the analysis of a Martian rock.  How did this rock get to Earth?

A) It was brought back by astronauts.
B) It was brought back by an unmanned robotic lander.
C) It was left here when Mars and Earth collided.
D) It travelled through space and landed on Earth after an asteroid crashed into Mars.
E) It was given to Captain Picard on an away mission.
Answer: D
Reference: Current Events in Physics
Difficulty: easy
Learning Objective: None None
Contest: 1997
Comet Hale-Bopp is being touted as one of the great comets of the 20th century, a chunk of frozen water, carbon dioxide and other dust particles, formed long ago.  The tail has a length of 100 million kilometres.  Approximately how large is the comet nucleus itself?

A) 400 m
B) 4.0 km
C) 40 km
D) 400 km
E) 4000 km
Answer: C
Reference: Current Events in Physics
Difficulty: 

Learning Objective: None None
Contest: 1997
On March 23, 1997 there was a partial lunar eclipse.  At its maximum, 92% of the moon was in the Earth’s shadow, yet it appeared with a warm copper glow.  The source of this light was

A) sunlight reflected off the surface of Earth.
B) the combined starlight from nearby stars.
C) radioactive decay of materials on the moon.
D) sunlight refracted through Earth’s atmosphere.
E) sunlight reflected from comet Hale-Bopp’s tail.
Answer: D
Reference: Current Events in Physics
Difficulty: difficult
Learning Objective: None 

Contest: 1998
During the great Ice Storm of 1998, much of Quebec and Ontario along the St. Lawrence River was coated in ice.  Which of the following is closest to the number of kilograms of ice which formed during that storm?

A) 106
B) 1012
C) 1018
D) 1024
E) 1030
Answer: B
Reference: Current Events in Physics
Difficulty: easy
Learning Objective: None 

Contest: 1998
In March, astronomers announced that asteroid 1997 FX11 might collide with Earth in 2028.  This was reversed the next day.  However simple observation will show that the Moon is much more cratered than the Earth.  The main reason for this is:

A) The Moon is softer than the Earth.
B) The Moon does not have a magnetic field.
C) The Moon rotates more slowly than the Earth.
D) The Moon has no atmosphere.
E) The Moon travels a greater distance in one year than the Earth.
Answer: D
Reference: Current Events in Physics
Difficulty: moderate
Learning Objective: None 

Contest: 1998
As part of the Internet expansion, it is proposed that a special cable be built that travels completely around the Earth at the equator, whose circumference we will take to be 40 000 km.  When the cable arrives from the manufacturer, it is found to be 40 006 km long.  The cable cannot be cut so it is decided to place it on elevated supports such that the circumference of the circle formed by the cable matches its uncut length.  Approximately how high must each support be?
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A) 1 μm
B) 1 mm
C) 1 cm
D) 1 m
E) 1 km
Answer: E
Reference: Current Events in Physics
Difficulty: easy
Learning Objective: None 

Contest: 1999
The lunar Prospector probe reached the moon and detected signs that the moon has a solid iron core 500 to 800 km in diameter.  It also detected, near the poles, signs of

A) a strong magnetic field.
B) tons of oxygen store as oxides
C) sporadic gamma ray bursts.
D) ancient volcanic activity.
E) water in the form of ice.
Answer: E
Reference: Current Events in Physics
Difficulty: easy
Learning Objective: None 

Contest: 1999
Since the Cold War ended, the United States has been investigating means of reducing its stores of weapons-grade plutonium.  Which of the following has been contemplated as a long term solution?

A) incinerating the plutonium in blast furnaces.
B) chemically forming safe plutonium compounds.
C) using it in Canadian CANDU reactors.
D) freezing it down to liquid Helium temperatures.
E) exploding it in small amounts at a time.
Answer: C
Reference: Current Events in Physics
Difficulty: easy
Learning Objective: None 

Contest: 1999
It has been claimed that 1999 is unusual in that it contains two blue moons, in January and March.  The media have been reporting this as a second full moon within a calendar month, although this appears to be a fairly recent interpretation.  The question is this:  At what time of day does the full moon rise?

A) The full moon rise can occur at any time.
B) The full moon rise occurs at midnight.
C) The full moon rise occurs at sunset.
D) The full moon rise occurs any time between sunset and midnight.
E) The full moon rise occurs in daylight hours.
Answer: C
Reference: Current Events in Physics
Difficulty: moderate
Learning Objective: None 

Contest: 1999
The Y2K problem will arrive this year.  It was caused by the high price of computer memory which made programmers code the year in only two digits, thereby using only two bytes of memory, and ignoring the century.  Suppose that 2000 were expressed in binary code instead, as a strong of 1’s and 0’s.  How many 1’s and in the binary representation of 2000?

A) 5
B) 6
C) 7
D) 8
E) 11
Answer: B
Reference: Current Events in Physics
Difficulty: easy
Learning Objective: None 

Contest: 2000
In the elusive quest for Dark Matter, attention has swung towards searching for the WIMP.  What does this acronym stand for?
A) Weakly Interacting Massive Particle
B) Wonderfully Implausible Missing Proton
C) White Interstitial Meson Particle
D) Work-Impulse Momentum Pion
E) Weiberg-Isaac Matter Photon
Answer: A
Reference: Current Events in Physics
Difficulty: easy
Learning Objective: None 

Contest: 2001
Superconductivity has been a hot topic in physics over the last few years.  Some conductors seem to lose all of their resistance to a flow of electrons when cooled below a certain temperature, called the superconducting transition temperature.  Although most people only heard of it a few years ago, it was actually discovered by Heike Kamerlingh Onnes in
A) the 1980’s

B) the 1950’s

C) the 1930’s

D) the 1910’s

E) the 1800’s
Answer: D
Reference: Current Events in Physics
Difficulty: easy
Learning Objective: None 

Contest: 2002
Space Station Alpha One is currently under construction in space.  The astronauts aboard the station find it necessary to communicate with different ground stations as time passes.  This is because Space Station Alpha One’s orbit is

A) geosynchronous.

B) polar.

C) in the same direction as the rotation of the Earth but with a shorter period.
D) in the same direction as the rotation of the Earth but with a longer period.

E) in the opposite direction to the rotation of the Earth.

Answer: C
Reference: Current Events in Physics
Difficulty: easy
Learning Objective: None 

Contest: 2003
A new generation of ultrahigh-power tabletop lasers produce the highest light intensities on Earth, re-creating the extreme conditions in stars and near black holes. They can deliver 10 terawatts in a pulse lasting 100 femtoseconds. "tera" and "femto" mean, respectively
A) 
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Answer: B
Reference: Current Events in Physics
Difficulty: moderate
Learning Objective: None 

Contest: 2004
During the summer of 2003 the power went out in Ontario. Assuming a total loss of 24 hours, and a price of $0.043/kWh, estimate the order of magnitude of the money lost by Ontario Power Generation.

A) $104
B) $105
C) $107
D) $109
E) $1011
Answer: C
Reference: Current Events in Physics
Difficulty: easy
Learning Objective: None 

Contest: 2005
Canadian Light Source is a new $174-million research facility opened in October 2004 in Saskatoon. It uses a pencil-thin beam of photons. The beam is

A) synchrotron radiation.

B) light from an ultra-strong new generation laser.

C) given off by colliding beams of protons and antiprotons.

D) radiated by off by electrons in a linear accelerator.
E) radiation given off by accelerated protons.
Answer: A
Reference: Current Events in Physics
Difficulty: easy
Learning Objective: None 

Contest: 2006
Hurricane Katrina caused devastation in several countries. Surface temperatures in the ocean must be above 26(C in order for a tropical storm to develop into a hurricane. As global climate change causes oceans to become warmer, what effect will this have on hurricanes?

A) Warmer temperatures will increase the number of hurricanes that form each year.

B) Warmer temperatures will increase the strength of each hurricane.

C) .Warmer temperatures will increase the number and strength of hurricanes that form each year.

D) Warmer temperatures will make the eye of each hurricane smaller.

E) Warmer temperatures have no effect on the number or strength of hurricanes.
Answer: C
Reference: Current Events in Physics
Difficulty: Easy

Learning Objective

Contest: 2007

Noise-cancelling headphones are being offered on certain MP3 players to reduce ambient noise in the listening environment. A microphone is used to pick up the ambient noise. Electronic circuitry processes the noise signal, and then, sends it to the loudspeaker where it is mixed with the ambient noise. In order to cancel the ambient noise, what sort of processing of the noise signal is required?

A) The amplitude must be reduced by a factor of 2.  

B) The frequency must be reduced by a factor of 2.

C) The amplitude must be increased by a factor of 2.  

D) The frequency must be increased by a factor of 2.

E) The phase must be inverted.

Answer: E
Reference: Current Events in Physics
Difficulty: Difficult

Learning Objective: None D2.5, F2.6, F1.2

Contest: 2008
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A wind farm project being built on the northern shore of Lake Erie will eventually employ 66 turbines to generate a total of 99 MW of electricity. Each turbine has three blades, each of length 37 m. Assuming an average density of 1 kg/m3 for air, what is the minimum wind speed required such that the wind energy passing through the blades, if converted with 50% efficiency, will generate the desired power?

A) 15 km/h   

B) 20 km/h  

C) 25 km/h   

D) 30 km/h   

E) 40 km/h

Answer: E
Reference: Current Events in Physics

Difficulty: 

Learning Objective: None 

Contest: 2009

The Large Hadron Collider is expected to provide physicists with evidence about the existence of the Higgs boson as well as

A) dark matter.

B) dark energy.

C) antiprotons and dark matter.

D) antiprotons and dark energy.

E) antiprotons, dark matter, and dark energy. 
Answer: A
Reference: Current Events in Physics

Difficulty: 

Learning Objective: None 

Contest: 2010

This year, for the first time, physicists think they may have directly detected Dark Matter - the matter that makes up over 80% of our universe. The experiments took place almost a kilometre underground in a mine in Minnesota. Similar experiments are taking place even farther underground in Sudbury and at the South Pole. These experiments must take place underground to isolate the equipment from the effects of

A) lightning.

B) neutrinos.

C) radioactivity.

D) cosmic rays.

E) bacteria.
Answer: D
Reference: Current Events in Physics
Difficulty: easy
Learning Objective: None 

Contest: 2011
In 2010, Physicists working at the European Organization for Nuclear Research (CERN) in Geneva, Switzerland, reported trapping atoms of an unusual form of hydrogen for up to 0.1 s. What was unusual about each atom?
A) The atom was antimatter.

B) The electron was replaced by a meson.

C) The nucleus contained a neutron as well as a proton.

D) The nucleus contained two neutrons as well as a proton.

E) The proton in the nucleus was replaced by a positron.
Answer: A
Reference: Current Events in Physics
Difficulty: easy
Learning Objective: None 

Contest: 2012
The large hadron collider is the world’s largest and highest-energy particle accelerator.  It was built in Switzerland at CERN to test the predictions of different theories of particle and high-energy physics.  In particular, it is hoped that the LHC will provide evidence for the existence of a currently predicted but unobserved particle.  What is this particle?
A) positron

B) triton

C) Higgs boson

D) Bose-Einstein hadron

E) Hawking particle
Answer: C
Reference: Current Events in Physics
Difficulty: 

Learning Objective: None 

Contest: 
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Answer: 
Reference: Current Events in Physics
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